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= 1,200
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14 J|EI2 43 4,000 4,000 0
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= 1,200
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S 2 Al ol 2,000 12,000 0
)
= 6,000
T 1,800
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= 6,000
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301 EtE NS 2,400 6,300 A3,900
= 1,200
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14 JIEt2d = 2,400 6,300 A3,900
OAl 2t0IB AL SHE A EHH 2,400
= 1,200
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14 JIEt2 a3 19,800 25,500 A5,700
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= 2,988
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THS & Al HEAZ AR (FHS OLAS) 20,466 20,990 N524
= 14,326
= 2,047
Al 4,093
307 elztol & 20,466 20,990 524
= 14,326
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Al 4,093
02 LB HAHE L 20,466 20,990 524
OFHS K= 20,466
= 14,326
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01 MHZH| 5,731 8,124 A2,393
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= 3,600
Al 8,400
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OUl=2 AAMT a8 FotAle X3 12,000
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HetSE 4 - 0fE 32AA KX XJ(He 3+ 6,000 6,000 0
2)
S 2,400
Al 3,600
301 EtE NS 6,000 6,000 0
= 2,400
Al 3,600
14 IIEt2d3 6,000 6,000 0
oolel s+ 6,000
= 2,400
Al 3,600
HetsSE 4 - 0E 32AF Il X2 (HF3H]) 120 120 0
== 48
Al 72
201 223 120 120 0
< 48
Al 72
01 At2teltl 120 120 0
Odct=E =4t OE S9A JiXl X3 120
== 48
Al 72
ASEINEA Al 2,000 2,000
206 MH=H| 2,000 2,000
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= 333
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= 2,000
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Al 1,680
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Al 9,722
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Al 202,592
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| 121,552
= 40,519
Al 202,592

02 QIZHBAAIEER 364,663 300,942 63,721
OXAZ ArZelXl MZEHl X 364,663
| 121,552
= 40,519
Al 202,592

ZAE BX=Y XA 12,067 12,391 A324
| 12,067

402 SI2ER=0H 12,067 12,391 A324
| 12,067

02 QIR AL B X (01 & THEA) 12,067 12,391 A324
O=MNE SA7Y K& 12,067
| 12,067

SE0t =SS 20,000 12,000 8,000
| 10,000
Al 10,000

307 212+01 A 20,000 12,000 8,000
| 10,000
Al 10,000

02 QIRHEAAIHEE X 20,000 12,000 8,000
Oos=20t Zedst 20,000
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IAE datdds A2 200,000 200,000 0
= 7,109
Al 192,891
301 EtE NS 200,000 200,000 0
=S 7,109
Al 192,891
14 0Bt 2as 200,000 200,000 0
OxAtE datdels X 200,000
< 7,109
Al 192,891
NSE 2SI X2 50,000 100,000 /50,000
= 15,000
Al 35,000
402 2I2F X201 & 50,000 100,000 /50,000
= 15,000
Al 35,000
02 QI XHE AL E R (01X THE) 50,000 100,000 /50,000
ONZE 2SIINHM K& 50,000
s 15,000
Al 35,000
eIt 2HLEH XA 6,000 8,000 A2,000
& 1,800
Al 4,200
402 QI”F X201 & 6,000 8,000 22,000
= 1,800
Al 4,200
02 QI X2 AL E R (0IHTHR) 6,000 8,000 /2,000
OgssIt 2HaEdl Xd 6,000
= 1,800
Al 4,200
SOHAl HAoHY 200 200 0
[ 60
Al 140
402 QI2F X201 & 200 200 0
== 60
Al 140
03 2IZ+RAETAIS I 200 200 0
OZ0HAl datory 200
& 60
Al 140
= Moll28 XI& 12,500 12,500 0
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& 5,000
Al 7,500
06 22 12,500 12,500 0
OJt= MolEE K& 12,500
& 5,000
Al 7,500
EFAEY A 2AFHH KA 2,000 2,000 0
T 600
Al 1,400
402 QIZ2HRt=01H 2,000 2,000 0
= 600
Al 1,400
02 QIZEXHEAIZ 2 (01 THE) 2,000 2,000 0
OFgAEY A &3tH XA 2,000
& 600
Al 1,400
NS A2 oS XIJ 2,000 2,000 0
T 600
Al 1,400
402 QI+ Rt=01H 2,000 2,000 0
= 600
Al 1,400
02 QIZEXHE A 2 (01 THE) 2,000 2,000 0
QI Atr2te e K& 2,000
& 600
Al 1,400
Eal= =D Fa PN N 940 800 140
& 282
Al 658
307 212+01™ 940 800 140
& 282
Al 658
02 QIZHBAAIEER 940 800 140
OF4atdE NEXE 940
= 282
Al 658
S AIXIE0I HAF X (HEAFR) 500 500 0
& 150
Al 350
307 QI2Hol ™ 500 500 0
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SN SEAEE)
M TS Aot RS2
Rl SIIEAIE 22l (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 6,891
307 gl2tol & 19,690 19,690 0
= 9,845
= 2,94
Al 6.891
02 2IZHBYAIHE X 19,690 19,690 0
OsZEXME F20ls M2 38l X2 19,690
= 9,845
& 2,954
Al 6.891
sX0lE AEEA X 23,986 26,937 2,951
) 16,790
Al 7,19
101 @1A4H| 21,371 24,000 N2,629
Il 14,960
Al 6,411
04 JIZtN2Z2XNSE+ 21,371 24,000 A2,629
OsX0I8 AEEAL X 21,371
7l 14,960
Al 6.411
201 er23 | 1,547 1,737 A190
Jl 1,083
Al 464
01 AtR22te|Hl 1,547 1,737 A190
OsX0lE8 e AL XIE 1,547
Jl 1,083
Al 464
202 04| 1,068 1,200 A2
7l 747
Al 321
01 SLHoIH 1,068 1,200 A3
OsX0I8 AEHEAL XIE 1,068
Il 747
Al 321
RN B = 5,000 5,000
201 er23| 5,000 5,000
01 AtR2t2|HI 5,000 5,000
O==ML 5 =5 5,000
sZE g2y s 79,480 79,480 0
201 =3 6,480 6,480
01 At22t2l] 6.480 6.480
O=gg g2y 2z 6,480
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401 Al HIZL 2018 73,000 73,000
01 Al&H| 73,000 73,000
O=g8 Uigad A2 73,000
s2 g 2 Y =234 2,383,000 1,974,000 409,000
401 AIZHIX S0 2,383,000 1,974,000 409,000
01 AlZH| 2,380,000 1,971,000 409,000
Os=z & - 2% & s+=2FH 2,300,000
O=4ts =2 ZESAHF A 30,000
OS20t2 AW HEX AFS(F0{0]4) 50,000
03 A2 THYI 3,000 3,000 0
Osz & - 2% & s+==234| 3,000
SsE 22 gyl 53,670 52,670 1,000
201 et=2 3| 53,670 52,670 1,000
01 AtR2t2|HI 46,970 46,970 0
OSs8=~ FHIZAI 46,970
02 s3=gHl 6,700 5,700 1,000
O =& K2l 6,700
IISHANS AIEE2 WL AL 30,000 30,000 0
= 15,000
Al 15,000
401 Al HIZ 2018 30,000 30,000 0
= 15,000
Al 15,000
01 AlZH| 30,000 30,000 0
OIISFHAXNS AHHES= HLASE 30,000
=S 15,000
Al 15,000
s2 ¥ =+=2FHI(E AL 275,000 207,000 68,000
= 275,000
401 AIEHIX R0 275,000 207,000 68,000
=S 275,000
01 Al&H| 275,000 207,000 68,000
OZ0INE sZ2EESA 54,000
= 54,000
OEHI0t= B2 EXISA 10,000
S 10,000
OuHlls SZEHSA 30,000
[ 30,000
OdLEIlE sZREHSA 30,000
s 30,000
OS20ts 22 SZEHESA 80,000
= 80,000
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Oz4ds 22 S22 EXISA 36,000
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O S =2 SH At 35,000
& 35,000
sgE 2F7 X ;A2 46,000 36,000 10,000
201 et 3| 16,000 16,000 0
01 At22t2l] 16,000 16,000 0
Osg8 2FX =X 16,000
401 AlEHIZL SO 30,000 20,000 10,000
01 Al&H| 30,000 20,000 10,000
sg8 A8 !Xl 30,000
SOHESA M=Xl RAl2el 40,000 40,000
401 Al HIY S CHYI 40,000 40,000
01 A28l 40,000 40,000
OSUHESA M==Xl 72 40,000
=CIAlE HE (M EALY) 425,000 370,000 55,000
== 340,000
Al 85,000
401 AlEHIZL SO 425,000 370,000 55,000
< 340,000
Al 85,000
01 Al&H| 425,000 370,000 55,000
O==clAlE =2+ 425,000
= 340,000
Al 85,000
M=Kl HE A 60,000 60,000 0
=S 18,000
Al 42,000
401 Al HIZL R 0HbI 60,000 60,000 0
< 18,000
Al 42,000
01 Al&HI 60,000 60,000 0
OM==Xl XA 60,000
= 18,000
Al 42,000
MHol?E LMAIE EHl 560,000 700,000 140,000
= 224,000
Al 336,000
401 Al HIZ S OHbI 560,000 700,000 140,000
s 224,000
Al 336,000
01 Al&HI 560,000 700,000 140,000
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= 20,000
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= 20,000
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SHEDIEAISE R AHIA ot S XA 134 134 0
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Al 67
307 QIZ2t01 A 134 134 0
= 67
Al 67
02 QIRHEAAIH B X 134 134 0
OsUHELILAIE X MUIA et S KR AL
A 134
= 67
Al 67
20239 MAHMHeIHe sEME2d S43tAtY 40,000 0 40,000
& 20,000
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= 20,000
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02 QIZHAAAIEER 40,000 0 40,000
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SOHAIE 22| 29 3,194,800 594,800 2,600,000
SOHAIE Al SREx 4,800 4,800 0
201 B2 AL 4,800 4,800 0
01 A=R2teld| 4,800 4,800 0
OZOHAIE EAL A28 #2 S 4,800
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